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Calcule el limite si es que existe usando la Regla de L’'Hépital.

11. lim

13.

15.

17. lim

19.

sen(x)

x—-0 2x

lim 2x%2-5x+2
x—25x%2-7x—6

sen(x)—x
x—0 tan(x)—x

lim x—sen(x)

x—0 x3

2+sec(x)
11’71;1 o
x_’(E) 3 tan(x)

In[sen(x)]
x—0% In[sen(2x)]

x cos(x)+e™™

lim -
x—0 X

x In(x)

x—+o00 X+In(x)

In(x—1)

x—2+ (x=2)2

x*—x3-3x245x-2

lim

x>1x%—5x3+9x2-7x+2

10.

12,

14.

16.

x—1-2
x—5 x%2-25

. x3-3x+2
lim=———=

x—1x%2-2x-1

. x+1-e*
lim

x-0 x2

1+sen(x)

x> cos?(x)
2

x2

im
x—+o0 In(x)

. e*
lim
x—0 x sen(x)

2x%43x+1
x—+oo 5x2+x+4

. x
lim =—,n>0
X—+oo €

li tan(x)—sen(x)

18. lim

20.

x—0  x3tan(x)

lim 2e3*41n(x)
X—+00 e3% 4x2

—e *-2sen(x)

www.hakemate.mx



